
Fits

General Information
Universally installs on the front or rear of off  road vehicles.

The Antirock® Off  Road Sway Bar is designed to balance the vehicle’s front and 
rear suspension when off  roading, resulting in better, more consistent traction. 
Antirock® Sway Bars are designed to be connected on and off  
road. On the road, the vehicle will have more body roll 
than a stock vehicle normally would. Heavier Jeeps may 
need to increase the eff ect of the sway bar by decreas-
ing the leverage point - there are 5 adjustment holes 
for changing the rate of the bar. The sway bar itself is 
of a torsion bar style design and is made out of 4130 chromoly steel. This 
matches the quality that is commonly used in professional off  road racing today.

1) Torsion Bar (various lengths depending on kit chosen)
2) Black Steel Side Arms - or - 2) Aluminum Side Arms (various lengths depending on kit chosen)
1) 1 3/4” o.d. x .095 wall d.o.m. steel sway bar mounting tube
2) Black UHMW sway bar bushings
2) 14” long x 1/2”-20 RH/LH Threaded Link Rods (other rod lengths available)
2) 1/2”-20 RH Thread Male Rod End w/ Stud
2) 1/2”-20 LH Thread Male Rod End w/ Stud
2) 1/2”-20 RH Thread Jam Nuts
2) 1/2”-20 LH Thread Jam Nuts
4) 1/2”-20 Nyloc Nuts
2) 5/16”-24 x 3/4” Flat Head Allen Bolts
2) 5/16” Aluminum Body Washers
2) 3/8”-24 x 2 1/2” Bolts
2) 3/8”-24 Nyloc Nuts

Kit Includes

Instructions
1) Being that this is a universal kit, we cannot tell you how to install it into your specifi c vehicle because we do not know what
     you have, however we can provide some general instruction and recommendations. It is recommended that you tack weld
     the unit into your vehicle and fully assemble the entire Antirock sway bar assembly before doing any welding to ensure that
     everything fi ts and works as you have intended.
2) Hopefully you measured your frame before ordering an Antirock kit so fi tment should not be too diffi  cult. The mounting
     tube supplied can be welded to your frame on the top or the bottom of your frame rails, or you may also hole saw through
     your frame rails and run the tube through your frame and simply weld it at the ends. Another option is only using enough of the tube on each end to just support the sway bar bushing
     and discarding the rest of the tube. You would just want to not that the initial tube is exactly 2” shorther than the torsion bar length - you will need to retain this width of mounting points
     if you choose to cut the tube. Mount the tube in a place where the tube and the sway bar will be as protected as possible.
3) After mounting your tube, use a good sized mallet and a block of wood and knock the black UHMW bushings into the tube. If you have cut the tube, heavy burrs in the ends of this tube
     may need to be removed with a fi le before installing the bushings. A few hard hits should get the bushing in and seated against the lip.
4) Next, grease the ends of the sway bar and the inside diameter of the bushings. Use moly-lube or multi-purpose grease.
5) Push the torsion bar through the bushings. Use a mallet to tap on the end of the torsion bar if necessary (never hit the torsion bar with a metal hammer!). Center the bar in the tube.
6) Install the sway bar arms on each end of the torsion bar. Push the arms snuggly up against the black bushings. The arms should be clocked on the splines of the bar so that they are parallel
     with each other. Use the 3/8”-24 x 2 1/2” bolts and the 3/8” nylock nuts to clamp the arms to the sway bar. The 5/16”-24 x 3/4” fl at head allen bolts and the 5/16” aluminum body washers



    bolt into the end of the torsion bar on each side for safety. You may now install the “Antirock” stickers on the arms.
7) At this point you will need to mount the tabs on the axle housing for the axle end of the vertical link rods. You’ll want to see the Antirock Adjustment guidelines below. Set your axle in the
     middle of it’s travel, as stated below and level the Antirock arms. Fully assemble the link rods, install them into the middle of the 5 holes on the Antirock arms for a starting point and then
     position the axle tabs to the axle. You may fi nd that the link rods in the kit are the wrong length. You can cut and shorten the links in the kit to fi t - if they are close. Otherwise, you may want 
    to look at purchasing the correct length rods (from the list below).
8) Once you are satisfi ed with the sway bar link lengths and the positioning of the axle tabs on the axle, go ahead and weld the axle tabs to the axle.
9) CAUTION: Before operating the vehicle, articuate the suspension and check for proper function, within the guidelines of the adjustment recommendations below!
10) Test drive the vehicle. The sway bar rate may be increased by moving the end link location to one of the 5 holes holes on the arm that is closer to the torsion bar, thus shortening the arm.

The sway bar rate may be decreased by moving the end link location to one of the 5 hole further toward the end of the arm, away from the torsion bar. NOTE: Each hole toward the sway
bar that you move the linkage, you will lose approximately 1/2” of articulation.

Notes:
1) Vehicle will have more body roll than a normal vehicle with stock sway bars.
2) Antirock Sway Bars ultimately work best when they are installed on both ends of the vehicle.
3) The 2 hole settings on the Antirock arms closest to the torsion bar are intended for on-road use only.

If you have any questions on our products or require any assistance during the installation process of this product, please feel free to contact our technical staff  at:

Available Link Rods: feature long, trimmable RH & LH threads allowing them to be cut down if necessary
for an exact fi t in your application. See our website for exact specs.
CE-9901RD3 6.5” long Antirock sway bar link rod
CE-9901RD4 8.5” long Antirock sway bar link rod
CE-9901RD5 10.5” long Antirock sway bar link rod
RJ- 517200-1 12” long Antirock sway bar link rod
CE-9901RD2 14” long Antirock sway bar link rod
RJ- 253200-1 15.5” long Antirock sway bar link rod

Proper Antirock® Adjustment
To correctly adjust a front or rear Antirock sway bar and determine how long the end links should be, we recommend the following process. You will 
need to determine how much suspension up travel and down travel that your vehicle has. Once you have those numbers, you will add them together 
to determine total overall travel. For example, if your vehicle has 4” of up travel and 8” of down travel, adding those number together, you get 12” of 
overall travel. Next, you’ll need to fi nd the midway point of your suspension travel, so, 12 divided by 2 is 6. So, the 6” point is the midway point of your 
vehicle’s travel. You’ll then need to set the axle at the 6” point – so the midway 
point of it’s travel. When the axle is at the midway point of it’s travel – this is 
the ONLY time the Antirock arms should ever be level. So, now that your axle is 
set to the midway point, go ahead and level the Anitrock arms. Next, measure 
center to center from the link mounting hole in the end of the Antirock arm, 
to the link mounting hole on your diff erential housing. This dimension is your 
mandatory link length for your specifi c vehicle build.
It is very important that, upon down travel, the link rod and the arm never 
become a straight line (see diagram to the right of a safe angle). If they do, 
you are in danger of them fl ipping upside down toward, the bumper, and not 
returning upward to their original location. If this situation does occur, the 
link rods and or the Antirock arms may be destroyed. RockJock does not warranty these parts due to damage 
caused by improper set up! If you foresee this being an issue, you’ll need to either get longer arms or continue 
to adjust the link length (or both), until this situation can never occur. Other options are axle limits straps or 
shorter shocks that limit the axle’s down travel.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


